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QUESTION 1

A customer is implementing a Container as a Service (CaaS) solution, and you are helping to provide the
infrastructure, including the persistent storage solution.

Does this HPE 3PAR characteristic provide a benefit for the customer\\'s solution?

multi-tenancy

A. Yes

B. No

Correct Answer: A

Reference: https://assets.ext.hpe.com/is/content/hpedam/documents/a00050000-0999/a00050422/ a00050422enw.pdf

QUESTION 2

Is this a way that a software-defined infrastructure can reduce total cost of ownership (TCO) and increase return on
investment (ROI)?

It collapses silos under a single control layer to make the infrastructure more agile and responsive to business need.
A. Yes
B. No

Correct Answer: B

QUESTION 3

You are proposing HPE Synergy to support a VMware vSphere environment, in which clusters of ESXi
hosts provide high availability for workloads such as a web farm, an inventory server, and a database.
Is this a recommended design principle for this use case?

Use Tunneled node VLANS for the connections on which ESXi nodes carry production traffic.

A. Yes

B. No

Correct Answer: B

QUESTION 4
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Is this a way that a software-defined infrastructure can reduce total cost of ownership (TCO) and increase return on
investment (ROI)?

It enables features like self-provisioning and self-monitoring to reduce maintenance costs.
A. Yes
B. No

Correct Answer: A

QUESTION 5

You are deploying HPE FlexFabric switches in a data center in which a customer uses VMware NSX. Is this something
that you should check on the FlexFabric switches?

ToR switch ports that connect to ESXi hosts permit the NSX transport VLAN ID.
A. Yes

B. No

Correct Answer: A

Reference: https://assets.ext.hpe.com/is/content/hpedam/a50000685enw
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